Eggs and a little bacon: Hens and eggs

Problem One

Four hens laid 68 eggs altogether.
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Each hen laid the same number of eggs.
How many eggs did each hen lay? '@' A
i ‘ i & Problem Two
Five hens laid 85 eggs altogether.
Each hen laid the same number of eggs.
‘ ; ’ ; . How many eggs did each hen lay?

Problem Three

Each hen laid 16 eggs

Some hens laid a total of 112 eggs. F,l ' a 3

How many hens were there?
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‘ i & J‘ “ Problem Four
’ : 3 Each hen laid 13 eggs.
(A : " an=4 How many eggs were laid in total?

Eight hens laid a lot of eggs.

Problem Five
Some hens laid a tota

Each hen laid 13 eggs.

How many hens were there?

| of 91 eggs. J" “a\ %

”-;’s .

oo dy o5,

Some hens laid 72 eggs altogether. Each hen laid the
same number of eggs.

Is it possible to know, from that information, how
many hens there were?
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